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Guess Paper – 2012
Class – XII
Subject – Chemistry

Maximum Marks: 70 






Time: 3Hrs

General Instructions:

1. All questions are compulsory.
2. Question nos.1to 8 are very short answer question and carry 1 marks each.
3. Queston no 9 to 18 are short answer questions and carry 2 marks each.
4. Question no 19 to 27 are also short answer type questions and carry 3 marks each.
5. Question no 28to 30 are long answer type and carry 5 marks each.
6.Use log table if necessary, use of calculator is not allowed.


Q1 Name an element with which silicon can  be doped to gave an n- type semiconductor?

Q.2Which is the coordination number of  central metal ion in                   [ Fe(C2O4)3]3-
Q.3 Complete the reaction 

Q4Write the IUPAC name of the following compound        CH3COCH2COCH3.

Q.5Why Amine are more basic than comparable alcohols?

Q.6When proteins said to be denatured?

Q.7Write the structures of the monomer of the following polymer

       (1)Dactron (2)Buna-N

Q.8What is meant by term Broadspectrum antibiotic ,Give example?
Q.9(1)What is the effect of Schotty and frenkel defect on the densityof crystal solid?

      (2)What is F-centres?

Q.10 Analysis show that nickel oxide has formula Ni0.98O1.00.what fraction of nickel exit as Ni+2 and Ni3+ ions

OR

(1)Classify each of the following as  being either a p-type semiconductor or n – type 
(a)Ge doped with In (b)B doped with Si

(2)What type of stoichiometric defect is shown by (a)ZnS (b)AgBr

Q.11Draw the structure ofchromate and dichromate ions?
Q12  [Fe(H2O)6 ]+3 is strongly paramagnetics whereas  [ Fe(CN)6]3- is weakly paramagnetic .Explain why? 
Q13Which pair of Halogen  compound ,which is faster undergo SN1 Reaction:  

Q14Write application of cooridination compound 

     (a)as analysis (b)in medical field

Q15Haloalkane react with KCN to form alkyl cyanideas a main product while with AgCN form isocyanide as the chief product explain?
Q16Write short note and reaction : Cannizaro reaction , Decarboxylation reaction

Q17   (a).Convert  Methanol to ethanoic acid  

           (b)write two imp use of N,N Dimethylamine (DMA).

Q18 (a)Explain phenol has higher boiling point than hydrocarbon, butane?

        (b) write reactions :  Kolbes reaction, Williamson synthesis

Q19(a)complete : CH3CH=C(CH3) + HBr------(……….

         (b)convert Toulene to benzyle alcohol.

Q.20Explain why 

 (a)Grignard reagent should be preparation under anhydrous condition?

 (b)Alkyl halide , though polar  are immisicible with water?

 (c)The dipole moment of chlorobenzene is lower than that of cylohexyle chloride?

Q21. A) Convert (a) Anilsol to phenol

                        (b) Phenol to Salicylaldehyde
           B)Name the reagents used in the reaction Benzyle  alchocol  to benzoic acid
   OR 

(1) Why ortho nitrophenol more acidic than orthomethoxyphenol

(2)Why phenol is acidic but ethanol is neutral 

Q22Explain 

(1)Write two main function of carbohydrate in plants

(2)What is reducing sugar?

(3)What happened when D glucose is treated with  HNO3 and Bromine water

Q23.(1) What are essential and non  essential amino acid .Give two example of each type?
        (2)Name the food sources and the deficiency diseases caused due to lack of Vit A and K

Q.24 (1)What are biodegradable polymer .Give two example

         (2) Discuss the main purpose of vulcanization of rubber?

Q.25 (1)What is PHBV. How it prepare ?

         (2)Draw  structure of monmer of  (1)PVC (2)PMMA

Q26. (1)Explain the follwing with suitable example  (1)Cationic detergent (2)Anionic detergent

         (2)How antiseptic differ from disinfectants

Q27(1) Why bithional  added  to the toilet soap.

       (2)What type of drugs is chloromphenicol

        (3)What are antifertility drugs give example?

Q.NO.28 Give the answer of following:  

                    (1)What is meant by disproportionation  of an oxidation state . Give example
                    (2) K2PtCl6 is well known compound whereas coorsponding Ni compound is not known why?

                    (3)indicate the steps the preparation of K2Cr2O7  from chromite ore?

                    (4)Explain why transistion element show variable oxidation state and write possible oxidation state  shown by Mn? 

                                                                                                (1+1+2+1)
OR

(1)Which is strongest reducing agent Cr2+ or  Fe2+ and why?  (2)
(2)Name the T.metal which does not exhibit variable oxidation state? 1 
 (3)Why is the orange sol of potassium dichromate turn yellow on adding NaOH to it?

(4)Why Zn,Cd,Hg normally not regarded as transistion metals? 1
Q.29
An organic compound (A)with molecular formula C8H8O form an orange –red precipated with 2,4-DNP reagent and give yellow precipate on heating with iodine in the presence of  sodium hydroxide .It neither reduce Tollens reagent or Fehling reagent,nor does it decolorize bromine water or Bayers reagent. On drastic oxidation with a chromic acid it give a carboxylic acid (B) having molecular formula C7​H6O2. identify (A) and (B) and explain the reaction involved?

Q30(1) An organic compound Aon treatment with aqueous ammonia and heating from compound B  which on heating with Br2 and KOH form a compound Cof molecular formula C6H7N.Write the structure and IUPAC name of compounds A,B,C. 

(2) Write noteGabrial phthalimide synthesis 
OR
A)Arrange the following:

        (1)In decreasing order of the pKb values 

             C2H5NH2, C6H5NHCH3, (C2H5)2NH and C6H5NH2
         (2)In increasing order of basic strength 

                  C6H5NH2,C6H5(CH3)2, ( C2H5)2NH and CH3NH2
         (3)In increasing order of boiling point :

                    C2H5OH, (CH3)2NH , C2H5NH2
         (4)In increasing order of solubility in water 

                C6H5NH2, (C2H5)2NH, C2H5NH2
 B)Give one chemical test to distinguished between the following pairs of compound 

         Secondary and  tertiary amine
Q.No.30(A) What happens when 

   (1)
Nitro Propane is treated with lithium aluminium hydride.

   (2)
Ethyl isocyanide undergo hydrolysis.

   (3) 
Benzene diazonium Chloride react with Phenol in basic medium. (1+1+1)

   (B)Give the answer of following

         (1) Why amines less acidic than alcohol of compararable molecular mass?

         (2) Aromatic amine are weaker base than aliphatic amine?   (1+1) 

                                           OR

    i) An organic compound A on treatment with aqueous ammonia and heating forms compound B which on heating with Br2 and KOH form a compound C a molecular formula C6H7​N. Write the structure and IUPAC name of compound of A, B, C.     (3)
ii)  Write short note with reaction 

a) Diazotisation reaction.

b) Hinsberg test                                                             (1+1)
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